
Thank you for choosing Compact 3 sit & stand desk

Scan the QR code to access
installation manual in preferred language

Let`s get started!
Quickguide • Height adjustment: 500 mm.

• Speed: <30 mm/s.

• Noise level: <40 dB

• Control panel switch model: DPG

• Height: 680-1180 mm

• Max lift capacity: 100 kg (excl. tabletop)

• Warranty period: 5 years

• Please visit www.kenson.no for more 
   information

Product information

Start-up / restart procedure

Always perform the ”Start-up and restart procedure” before using the 
height adjustable desk for the first time. This is to calibrate the lifting 
columns to the control box and to make sure that all the parts of the Linak 
electronics are in order.

Hold the button down for 15 seconds. 
All the lifting columns shall make a slight up and down movement. 
Do not release the button until the movement is completed. 

Repeat the procedure one or more times if there is no movement.

NB! 
In case of any malfunction, a restart procedure must be performed.

IMPORTANT INFORMATION BEFORE USE!



ASSEMBLY - HOW TO DO IT SCREW M6 X 10 MM. 18 PCS.
SCREW M6 X 16 MM.  12 PCS. 

ADJUSTABLE SCREW  6 PCS.

WOOD SCREW 5,0 X 20 MM. 15 PCS. 
WOOD SCREW 4,5 X 35 MM.  2 PCS.

CONTROL PANEL SWITCH WITH BUTTONS MODEL DPG
WOOD SCREW 4,5 X 35 MM. 2 PCS.

SCREW M6 X 16 MM. 12 PCS.

WOOD SCREW 5 X 20 MM. 15 PCS.

COLUMN FRAME RIGHT 
56 CM. 2 PCS.

ADJUSTABLE SCREW
6 PCS.

COLUMN FRAME, 
ADDITIONAL
COLUMN 49 CM.

FOOT LENGTH 70 CM.

COLUMN FRAME LEFT 56 CM. 2 PCS.

COLUMN FRAME, 
ADDITIONAL COLUMN 56 CM.

CENTER FRAME 77 CM. 2 PCS.

CENTER FRAME, 
ADDITIONAL COLUMN 77 CM. 

COLUMN FRAME,  ADDITIONAL COLOUMN 60 CM.

WOOD SCREW 4 X 50 1 PCS.
CONTROL UNIT

FOOT LENGTH 
50 CM.

WOOD SCREW 4 X 50 MM. 1 PCS.

LIFTING COLUMN 
3 PCS.

SCREW M6 X 10 MM. 18 PCS.

DESK ANGLE 
FRAME 2 PCS.


